T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
$200. ¢ 100, ¢75
X[ 00001

[1-1] RRVP ¢ 75 DP=2.00

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAIE% L=L=1
675 )= 1.000 m
2 fEEE =S EHRT—7 T R T=1=1
675 g 1.000 m
3 AEERS —MER T AR T=L=1
g 1.000 m
4 PR —h BHRT=1=1
150mm X 50m,// % 25 0IAF» J= 1.000 m
5 GEERREINT T AT 7V ML SHAEY) W T =545 9T R B« ARSI B =1%2+0
15ecmPL T )= 2.000 m
6 BEERRI5IRL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.002 m3 &hEEE=(1%2+0)*0. 023%0. 05
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I A N =1%0. 9+0
AAEIE 1 0cm LA T Vs 0.900 m2
8 FIHEHI BHO0.20m3 JEHI THI=ZE E+E*E=1%0. 9%2. 14
)= 1.926 m3
9 TR (R O - M ) SRR T T=ERE=1
2.0m<HBHIZE=<2.3m Nv/F&us|Hk B 1.000 m
10 B R (kg ) BHO0.20m3 PR TUI=AE Exg*E=1%0. 9%0. 59
Iyioay bR g 0.531 m3
11 ERHEE (B E) BH0.20m3 PR TUS=ZE @ Z8=1%0. 9%1. 4
RC-40HL & + & 7 5 [E g 1.260 m3
12 B R (kg ) BHO0.20m3 PR TU4A=FE Fexg*%E=1%0. 9%0. 17
M-303 & + & > 7 6 [E o = 0.153 m3
13 EEERE (WHER) BH0.20m3 PR RRAZERR CHTaR ) =4 o & W i Al =— 1 1%0. 006
Iyay R g -0.006 m3
14 EFRFEIEME As BERALAS (HREIES) =R i f = £ =0. 9%0. 05
)= 0.045 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BE HITA0) =i R /R X =0. 9%0. 05
AsHll - Codifl (E5%) 3.0kmPA T DID 4 & 0.045 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HA ) 2545 =1. 92
+4#5 10.0kmLL F DID%E B 1.926 m3 6+0+0+00
17 ST (HEE-#E)3cnl /@ IS B =AE S E+ I AR N A =1%0. 9+0
BRI EAs I )= 0.900 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00002 [1-1] @DIP.GX ¢ 100 DP=0.95
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAH % T.=L=23
$ 100 )= 23.000 m
9 RYZFLLRAY—T BT B TT=L=23
6 100 g 23.000 m
3 R EWRT—T7 L B R T=1=23
$ 100 )= 23.000 m
4 Rk —MAR L IR L=1L=23
)= 23.000 m
5 A —h AR T=1=23
150mm X 50m & 2fZ 410 iAFx b= 23.000 m
6 EKEER WK FRER=1=20
)= 20.000 m
7 GHEERREINT T AT 7 MM AR SRAEY) B T =525 9L B B« ARSI =23%2+0
15ecmPA T g 46.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 40 I+ AR+ I BRD) *0. 023%
& 0.053 m3 &%= (23%2+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + T AN =23%0. 6+0
BHEEE10emA T 2 13.800 m2
10 ‘FHEHI BHO0.20m3 PR THI=ZE R+ g i=23%0. 6%1. 12
)= 15. 456 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
g 0.720 m3 0.6%0.2%12
12 B R (kg ) BHO0.20m3 PR T UI=ZE R+ g E=23%0. 6%0. 62
Iyioay bR g 8.556 m3
13 ERHEE (B RE) BH0.20m3 H B T US=4E 55 7ZE=23%0. 6%0. 35
RC-40HL & + & 7 5 [E g 4,830 m3
14 B RE (kg ) BH0.20m3 PR T U4=E R+ igi48=23%0. 6%0. 17
M-303 & + & > 7 S [E o g 2.346 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
Iyay R g 0.720 m3 0.6%0.2%12
16 B RE (kg ) BH0.20m3 PR BEPERR CHraR &) =4k £+ 45 Wi i fE=—1%23%0. 011
Iyioay bR g -0.253 m3
17 ERBEFEWALEL As JFEAA L5y (B IR ) =f A i F+ 5 X =13. 8%0. 05
)= 0.690 m3
18 PEREALEEIERE BH0.20m3 DTr4t BEMA TE R (FRAIER) =T A+ X =13. 8%0. 05
AsHi - CoBfl (ME77%) 3.0km A B DID M J= 0.690 m3
19 F/AE+5EME BHO0.20m3 DTr4t 7 =1 53 HH2 25 Hik T 88 4y (RS HAll) — B =15. 4
18> 10.0kmLLF DIDE A 16.176 m3 56+0+0. 72400
20 AHEET (HE - BJE) 3cmlfE A8 1B =FE FoHlg + I AE TN =23%0. 6+0
HEBRIEAs 7 T745 )= 13.800 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00003 [1-1] ®DIP.GX ¢ 100 DP=1.20
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAH % T.=L=12
$ 100 )= 12.000 m
9 RYZFLLRAY—T BT EHRT=L=12
6 100 g 12.000 m
3 R EWRT—T7 L B R T=1=12
$ 100 )= 12.000 m
4 Rk —MAR L IR L=L=12
)= 12.000 m
5 A —h AR T=1=12
150mm X 50m, & 265471 5A L b= 12.000 m
6 EKEER WK RER=1=12
)= 12.000 m
7 GHEERREINT T AT 7 MM AR SRAEY) B T =545 0T B B« AR SN =12%2+0
15ecmPA T g 24.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 40 I+ AR+ I BRD) *0. 023%
& 0.028 m3 AfEEE=(12%2+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I AN =12%0. 6+0
BHEEE10emA T & 7.200 m2
10 ‘FHEHI BHO0.20m3 PR THI=ZE R+ lgsi=12%0. 6%1. 37
)= 9.864 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.420 m3 0.6%0.2%7
12 B R (kg ) BHO0.20m3 R T UI=RE R+ g E=12%0. 6%0. 62
Iyioay bR g 4.464 m3
13 ERHEE (B RE) BH0.20m3 P B T US=%E sl #78=12%0. 6%0. 6
RC-40HL & + & 7 5 [E g 4,320 m3
14 B RE (kg ) BH0.20m3 PR T U4=2E R+ igi8=12%0. 6%0. 17
M-303 & + & > 7 S [E o g 1.224 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
Iyay R b= 0.420 m3 0.6%0. 2%7
16 B RE (kg ) BH0.20m3 PR BEPERR CHraR &) =1L F+ 48 Wi mifE=—1%12%0. 011
Iyioay bR g -0.132 m3
17 ERBEFEWALEL As BEAA AL S5 (HR U ER) =Rl Ak F+ 5 X =7. 2%0. 05
)= 0.360 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERE My (PR HED) =i A+ 2 <=7, 2*0. 05
AsHi - CoBfl (ME77%) 3.0km A B DID M J= 0.360 m3
19 F/AE+5EME BHO0.20m3 DTr4t 75 L E =1 53 +H2 43 Hik T8 4y (S +HAll ) — S48 =9. 86
18> 10.0kmLLF DIDE A 10.284 m3 4+0+0. 42+00
20 AHEET (HE - BJE) 3cmlfE A8 B =FE FHlg + I AE N R =12%0. 6+0
HEBRIEAs 7 T745 P 7.200 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00004 [1-1] ®DIP.GX ¢ 100 DP=0.95
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAf % T.=L=63
$ 100 )= 63.000 m
9 RYZFLLRAY—T BT B T=1=63
6 100 g 63.000 m
3 #EEE WU —7 L EHA/R T=1-63
$ 100 )= 63.000 m
4 Rk —MAR L &R L=1L=63
)= 63.000 m
5 A —h AR T=1=63
150mm X 50m & 2fZ 410 iAFx b= 63.000 m
6 EKEER WK RER=1=63
)= 63.000 m
7 GHEERREINT T AT 7 MM AR SRAEY) B T =525 9T B B« ARSI =63%1+0
15ecmPA T g 63.000 m
8 BRI IRL SRS TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.072 m3 &%= (63%1+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T = BB + T A N =63%0. 5+0
BHEEE10emA T B 31.500 m2
10 ‘FHEHI BHO0.20m3 PR THI=ZE R+ g i=63%0. 5%1. 12
)= 35.280 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
g 1.050 m3 0.5%0. 2%21
19 3 BEHE B (KehR I 52) BHO.20m3 PR T U 1=4E 5+ 2=63%0. 5%0. 62
Iyioay bR g 19.530 m3
13 ERHEE (B RE) BH0.20m3 H B T US=4E 55 7ZE=63%0. 5%0. 35
RC-40HL & + & 7 5 [E g 11.025 m3
14 B RE (kg ) BH0.20m3 PR T U4=E R+ g 48=63%0. 5%0. 17
M-303 & + & > 7 S [E o g 5.355 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
Iyay R g 1.050 m3 0.5%0. 2%21
16 B RE (kg ) BH0.20m3 PR BEPERR CHraR &) =4k £+ 45 Wi i fE=—1%63%0. 011
Iyioay bR g -0.693 m3
17 ERBEFEWALEL As . JFEAA ALy (B IR ) =R A i F+ 5 X =31. 5%0. 05
)= 1.575 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERTE M (PR HIER) = A+ 8 X =31. 5%0. 05
AsHi - CoBfl (ME77%) 3.0km A B DID M J= 1.575 m3
19 F/AE+5EME BHO0.20m3 DTr4t 75 L E =1 53 +H2 23 Hilk T8 4y (S +HAll ) — i S48 =35. 2
18> 10.0kmLLF DIDE A 36.330 m3 8+0+1.05+00
20 AHEET (HE - BJE) 3cmlfE A8 1B =FE FoHlg + I AE TN =63%0. 5+0
HEBRIEAs 7 T745 )= 31.500 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00006 [1-2] @DIP.GX ¢ 75 DP=0.95
NO 4/ 3k ~HE B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAis% T.=L=2.5
¢ T5LLTF = 2.500 m
2 BUZFLLR)—THET BB TAL=2.5
O T5LLT g 2.500 m
3 R EWRT—T7 L IR T=1=2.5
675 )= 2.500 m
4 Rk —MAR L IR L=L=2.5
)= 2.500 m
5 ik —b IR T=L=2.5
150mm X 50m & 2fZ 410 iAFx b= 2.500 m
6 EKEER WK FRER=1=2. 5
)= 2.500 m
7 EHEERRUINT T AT 7V MR SRAEY) B T =545 AT PR H S« AR BN =2, 5%2+0
15emPL T )= 5.000 m
8 BRI IRL SRS TR 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.006 m3 &HEEE=(2. 5%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I A N5 =2. 5%0. 6+0
BHEEE10emA T & 1.500 m2
10 ‘“&¥4EE] BHO.20m3 PRI CHI=ZE Rexif+iZE=2. 5%0. 6%1. 09
)= 1.635 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.240 m3 0.6%0.2%4
12 B R (kg ) BHO0.20m3 R T UI=AE R #ilig*8=2. 5%0. 6%0. 59
Iyioay bR g 0.885 m3
13 EHHEE (W E) BH0.20m3 PR TUS=HE ik i78=2. 5%0. 6%0. 35
RC-40HL & + & 7 5 [E g 0.525 m3
14 B RE (kg ) BH0.20m3 PR T U4=4E R wilig+8=2. 5%0. 6%0. 17
M-303 & + & > 7 S [E o g 0.255 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
Iyay R g 0.240 m3 0.6%0.2%4
16 B RE (kg ) BH0.20m3 PR BEPERR GOk &) =4k Fo+ 48 Wi i ff=—1%2. 5%0. 007
Iyioay bR g -0.018 m3
17 ERBEFEWALEL As BEAA AL S5 (HR I ER) =R A Fi+ . X =1. 5%0. 05
)= 0.075 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERE My (PR HED) =i A+ & < =1. 5%0. 05
AsHi - CoBfl (ME77%) 3.0km A B DID M J= 0.075 m3
19 F/AE+5EME BHO0.20m3 DTr4t 7 L E =1 53 +H2 43 Hilk T8 4y (S Hll ) -~ B =1. 63
18> 10.0kmLLF DIDE A 1.875 m3 5+0+0. 24400
20 EiZE T (HEE-HE) Senl/E IAE IH=E F* g+ E AR I =2, 5%0. 6+0
HEBRIEAs 7 T745 P 1.500 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00007 [1-2] B®RRVP ¢ 75 DP=1. 40
NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAi R L=L=1.5
675 )= 1.500 m
2 WEEH(ke =B EBIRRT—7 L IR L=L=1.5
675 g 1.500 m
3 AEERS —MER T AR T=1=1.5
g 1.500 m
4 A —b IR LA=LS
150mm X 50m,// % 25 0IAF» J= 1.500 m
5 GEERREINT T AT 7V ML ST T =2 A = IR A N =1, 5%2+0
15emPL T )= 3.000 m
6 BEERRI5IRL SRR T 7K AL B = (BlEE AE 4 I+ A2+ I BRD) *0. 023%
& 0.003 m3 &HEEE=(1.5%2+0)*0. 023*0. 05
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 5%0. 9+0
AAEIE 1 0cm LA T Vs 1.350 m2
8 FIHEHI BHO0.20m3 JEHI THI=ZE E-xE*E=1. 5%0. 9%1. 54
)= 2.079 m3
9 R (BRI O - M ) SRR T T=EE=1.5
1L5m<#BHIE=<1.8m ~'v/ivs|k B 1.500 m
10 B R (kg ) BHO0.20m3 PR TUI=4E F*Ig*4E=1. 5%0. 9%0. 59
Iyioay bR g 0.797 m3
11 ERHEE (B E) BH0.20m3 M B T US=4E EsE*ZE=1. 5%0. 9%0. 8
RC-40HL & + & 7 5 [E g 1.080 m3
12 B R (kg ) BHO0.20m3 PR TUA=FE FoxE*4E=1. 5%0. 9%0. 17
M-303 & + & > 7 6 [E o g 0.230 m3
13 EEERE (WHER) BH0.20m3 PR RAZERR (GHaR ) =4 Fox & Wr i ffi=— 1 1. 5%0. 006
ryioay R LR )= -0.009 m3
14 EFRFEIEME As BER LS5 (BRAEIER) =TI A+ X =1. 35%0. 05
)= 0.068 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R+ /R X =1. 35%0. 05
AsHll - Codifl (E5%) 3.0kmPA T DID 4 & 0.068 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HA ) 3574 =2. 07
+4#5 10.0kmLL F DID%E B 2.079 m3 9+0+0+00
17 ST (HEE-#E)3cnl /@ A IH=JE F* g+ A I =1, 5%0. 9+0
FAEBRIEAs 744 )= 1.350 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00008 [1-3] ®DIP.GX ¢ 200 DP=0. 85
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAf % T.=L=63
6 200 )= 63.000 m
9 RYZFLLRAY—T BT B T=1=63
6 200 g 63.000 m
3 #EE BT —7 L EHA/R T=1-63
6 200 )= 63.000 m
4 Rk —MAR L &R L=1L=63
)= 63.000 m
5 A —h AR T=1=63
150mm X 50m & 2fZ 410 iAFx b= 63.000 m
6 EKEER WK RER=1=63
)= 63.000 m
7 GHEERREINT T AT 7 MM AR SRAEY) B T =525 9T B B« ARSI =63%1+0
15ecmPA T g 63.000 m
8 BRI IRL SRS TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.072 m3 &%= (63%1+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T = BB + T A N =63%0. 5+0
BHEEE10emA T B 31.500 m2
10 ‘FHEHI BHO0.20m3 PR THI=ZE R+ g i=63%0. 5%1. 12
)= 35.280 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
g 0.850 m3 0.5%0.2%17
19 3 BEHE B (KehR I 52) BHO.20m3 PR T U 1=4E 5+ 2=63%0. 5%0. 62
Iyioay bR g 19.530 m3
13 ERHEE (B RE) BH0.20m3 H B T US=4E 55 7ZE=63%0. 5%0. 35
RC-40HL & + & 7 5 [E g 11.025 m3
14 B RE (kg ) BH0.20m3 PR T U4=E R+ g 48=63%0. 5%0. 17
M-303 & + & > 7 S [E o g 5.355 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
Iyay R g 0.850 m3 0.5%0.2%17
16 B RE (kg ) BH0.20m3 B PERR GOk &) =4k Ko+ Wi i FE=—1%63%0. 038
Iyioay bR g -2.394 m3
17 ERBEFEWALEL As . JFEAA ALy (B IR ) =R A i F+ 5 X =31. 5%0. 05
)= 1.575 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERTE M (PR HIER) = A+ 8 X =31. 5%0. 05
AsHi - CoBfl (ME77%) 3.0km A B DID M J= 1.575 m3
19 F/AE+5EME BHO0.20m3 DTr4t 75 L E =1 53 +H2 23 Hilk T8 4y (S +HAll ) — i S48 =35. 2
18> 10.0kmLLF DIDE A 36.130 m3 8+0+0.85+00
20 AHEET (HE - BJE) 3cmlfE A8 1B =FE FoHlg + I AE TN =63%0. 5+0
HEBRIEAs 7 T745 )= 31.500 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00009 [1-3] (DDIP.GX ¢ 200 DP=0. 85
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=7.5
6 200 )= 7.500 m
9 RYZFLLRAY—T BT EHIRT=L=7.5
6 200 g 7.500 m
3 R EWRT—T7 L IR T=1=7.5
6 200 )= 7.500 m
4 B —MiRT BOAR LA
)= 7.500 m
5 A —h AR T=1=7.5
150mm X 50m & 2fZ 410 iAFx b= 7.500 m
6 EKEER W/KFRER=1=7. 5
)= 7.500 m
7 GHEERREINT T AT 7 MM AR SRAEY) B =545 AT PR H S« AR BN =7, 5%2+0
15emPL T )= 15.000 m
8 BRI IRL SRS T 7K AL B = (Bl S AE 40 I+ AL+ I BRD) *0. 023%
& 0.017 m3 &HEEE=(7. 5%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB+ I AN =7. 5%0. 6+0
BHEEE10emA T & 4.500 m2
10 ‘“&¥4EE] BHO.20m3 PRI CHI=ZE R +iE=7. 5%0. 6%1. 12
)= 5.040 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.420 m3 0.6%0.2%7
12 B R (kg ) BHO0.20m3 R T UI=AE g+ Z8="7. 5%0. 6%0. 62
Iyioay bR g 2.790 m3
13 EHHEE (W E) BH0.20m3 PR TUS=HE R g+ i78=7. 5%0. 6%0. 35
RC-40HL & + & 7 5 [E g 1.575 m3
14 B RE (kg ) BH0.20m3 PR T U4=4E R ilig+8=7. 5%0. 6%0. 17
M-303 & + & > 7 S [E o g 0.765 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
Iyioay R LR g 0.420 m3 0.6%0. 2%7
16 B RE (kg ) BH0.20m3 B PERR GOk &) =4k Ko+ 48 Wi i fE=—1%7. 5%0. 038
Iyioay bR g -0.285 m3
17 ERBEFEWALEL As BEAA AL S5 (HR I ER) =R Ak Fi+ 5 X =4. 5%0. 05
)= 0.225 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERE My (PR HED) =i i+ < =4. 5%0. 05
AsHi - CoBfl (ME77%) 3.0km A B DID M J= 0.225 m3
19 F/AE+5EME BHO0.20m3 DTr4t 75 B =1 53 +H2 23 Hik T 88 4y (RS HAllT) — B =5. 04
18> 10.0kmLLF DIDE A 5.460 m3 +0+0.42+00
20 EiZE T (HEE-HE) Senl/E IAE IH=E F+ g+ E A I B=T7. 5%0. 6+0
HEBRIEAs 7 T745 P 4.500 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00010 [1-3] @®DIP.GX ¢ 200 DP=1.10
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=2.5
6 200 )= 2.500 m
9 RUZFLLAY—THET A T=1=2.5
6 200 g 2.500 m
3 R EWRT—T7 L IR T=1=2.5
6 200 )= 2.500 m
4 Rk —MAR L IR L=L=2.5
)= 2.500 m
5 A —h BHAR T=1=2.5
150mm X 50m & 2fZ 410 iAFx b= 2.500 m
6 EHIERRUINT TAT7 VMRS SRS T T =H 2 4 R PR AR B N B =2, 5%2+0
15emPL T B 5.000 m
7 BEERIGIRAL AL TR K AL BR= (Bl EEAE B4 S+ AL+ IR *0. 023%
b 0.006 m3 EHEEE=(2. 5%2+0)*0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H=2. 5%0. 6+0
EAEIE10emLA T B 1.500 m2
9 ‘&M BH0.20m3 PEH| THI=ZE R ig+%E=2. 5%0. 6%1. 37
)= 2.055 m3
10 ‘FHEHI BHO0.20m3 R T GRERHE - JE10) =2E 5 A LgEWaskse A HxfE AT %=0. 5%
5 0.180 m3 0.6%0.2%3
11 EEHEE (W E) BH0.20m3 R TUL=HE B ik 78=2. 5%0. 6%0. 62
Iyay R g 0.930 m3
12 B R (kg ) BHO0.20m3 R TUS=HE K+ E+{E=2. 5%0. 6%0. 6
RC-40H R + & L\ [ 6D 2 0.900 m3
13 EHHEE (W E) BH0.20m3 PR T U4=JE Rex gk 38=2. 5%0. 6%0. 17
M-30H & + &> S5 [E 6 g 0.255 m3
14 ERHE (B R BH0.20m3 PREE T (R - JEE50) =JE R A LxiEWasiZE A H+ {5 Frkk=0. 5%
7yvar AR R B 0.180 m3 0.6%0.2%3
15 EEERE (R R) BH0.20m3 PR RRAZERR CHTaR ) =4 o & W i ffi=—1%2. 5%0. 038
Iyay R g -0.095 m3
16 FEREEIEMAIL As JFERA ALy (B HIER) =Bl A Fif+ )5 X =1. 5%0. 05
)= 0.075 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERA T (BE HIFA0) =R FE+ /R X =1. 5%0. 05
AsHll - Codifl (%) 3.0kmPA T DID 4 g 0.075 m3
18 384 5@ BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B HA ) 3574 =2. 05
+4#5 10.0kmLL F DID%E 2 2.235 m3 5+0+0. 18+00
19 Hh%ET (HEE-¥E)3cnl /@ IS IH=4E F* g+ A I =2, 5%0. 6+0
BRI EAs I )= 1.500 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

10 H

EELKE AR L
¢ 200, ¢ 100, ¢ 75
X 00101 FImD
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE ST T =l A R A N B =1 %244
15emPL T )= 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.007 m3 &EEE=(1%2+4)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =1%2+0
AAEIE 1 0cm LA T Vs 2.000 m2
4RIV T BIGHKISHY JEHE TH1=JE R+ ig+E=1%2%0. 78
A B 1.560 m3
5 EIHEEI] BHO0.20m3 PR TH2=%E Fex*iE=1%2%1. 17
)= 2.340 m3
6 B (Fh I ) BH0.20m3 PR T UL=4E i x4e=1%2%0. 4
Joray bR g 0.800 m3
7 ERMRE (BT R) BHO0.20m3 PR B TUS=ZE sl E=1%2%1. 4
RC-40HE 2 + &> 7 S5 [E D )= 2.800 m3
8 B (FhR I ) BHO.20m3 MR T UA=SIE i+ 4e=1%2%0. 17
M-303 & + & > 7 S [E o g 0.340 m3
9 ERRBEIEMILIE As . BEAA ALy (R HIED) =Rl i FEe /R X =2%0. 05
)= 0.100 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERA TE R (PR ANER) =T A+ 2 X =2%0. 05
AsHi - CoBfl (ME77%) 3.0km LA B DID M J= 0.100 m3
11 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -~ 545 =1. 56
18> 10.0kmLLF DIDE = 3.900 m3 +2.34+0+00
12 AHEET (HEE - #5) 3cmlfE A8 IE=E FoH g+ E A I BRi=1%2+0
HEBRIEAs T745 P 2.000 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

11 H

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XHE 00102 AW
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE ST T =l A R A N B =1 %244
15emPL T )= 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.007 m3 &EEE=(1%2+4)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =1%2+0
AAEIE 1 0cm LA T Vs 2.000 m2
4RIV T BIGHKISHY JEHE TH1=JE R+ tg+ZE=1%2%0. 46
A B 0.920 m3
5 EIHEEI] BHO0.20m3 PR HI TH2=%E o *iZE=1%2%0. 69
)= 1.380 m3
6 B (Fh I ) BH0.20m3 PR T UL=4E i x4e=1%2%0. 4
Joray bR g 0.800 m3
7 ERMRE (BT R) BHO0.20m3 P B T US=ZE sl 78=1%2%0. 6
RC-40HE 2 + &> 7 S5 [E D )= 1.200 m3
8 B (FhR I ) BHO.20m3 MR T UA=SIE i+ 4e=1%2%0. 17
M-303 & + & > 7 S [E o g 0.340 m3
9 ERRBEIEMILIE As . BEAA ALy (R HIED) =Rl i FEe /R X =2%0. 05
)= 0.100 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERA TE R (PR ANER) =T A+ 2 X =2%0. 05
AsHlL - CoBll (/7) 3.0kmPL F DID%E J= 0.100 m3
11 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +ll ) — #5485 =0. 92
18> 10.0kmLLF DIDE = 2.300 m3 +1.38+0+00
12 AHEET (HEE - #5) 3cmlfE A8 IE=E FoH g+ E A I BRi=1%2+0
HEBRIEAs T745 P 2.000 m2




+ TEHEHEE 12 H

(7-103) ERUKEAMRE TH (5 7)
ERLKE AR L
6200, ¢ 100, ¢ 75
X 00103 IO

NO 4/ 3k ~HE B g HAL EHEKX
1 BEEERRUINT TAT7V MRS AL EI T T =4l A B PR AN =1, 5%2+3
15emPL T )= 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
) 0.007 m3 Hfi%E/E= (1. 5%2+3) *0. 023*0. 05
3 HIERRIREELALA BHO.20m3 SRR T=HE S+ AR AN =1, 5%1. 5+0
AAEIE 1 0cm LA T Vs 2.250 m2
4 FRYEY T BUGHIKHY JEHE] TH1=JE F*tg+E=1. 5%1. 5%0. 54
A B 1.215 m3
5 EIHEEI] BHO0.20m3 PR TH2=E -+ ig+%=1. 5%1. 5%0. 81
)= 1.823 m3
6 B (Fh I ) BH0.20m3 PR TUI=AEExg*E=1. 5%1. 5%0. 4
Tyiay bR g 0.900 m3
7 ERIERE (B ) BHO.20m3 MBS T US=4E EsiE*ZE=1. 5%1. 5%0. 8
RC-40#L & + & 7 5 [E g 1.800 m3
8 E MR (MR ) BH0.20m3 P T U4=4EFexligxie=1. 5%1. 5%0. 17
M=30LEE 4 272 7 N[ 60 Lz 0.383 m3
9 IEFRPEEMLIE As . BERT ALy (BRHIS) =Mk i AE+JE X =2. 25%0. 05
)= 0.113 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERTE M (PR HIER) = AR+ R X =2. 25%0. 05
AsHi - CoBfl (ME77%) 3.0km LA B DID M J= 0.113 m3
11 FAE+5EME BHO0.20m3 DTr4t B 1T R=H1 53 +H2 53 ik T AR 4 (S +Hll ) - A4 =1. 21
18> 10.0kmLLF DIDE g 3.038 m3 5+1.823+0+00
12 HEET (HE-KE)3al)E A IH=E S+ g+ E A N %=1, 5%1. 5+0
HEBRIEAs T745 P 2.250 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
$200. ¢ 100, ¢75

XM 00201 [1-1] B.P%& A& DP=2. 00

13 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SRAED) B =545 AT B AR H A« AR B IN =0, 75%2+1. 2
15emPL T )= 2.700 m
2 BRI IRAL SRR T 7K AL B = (BlEE AE 4 I+ AR+ I BRD) *0. 023%
5 0.003 m3 &EfEEE=(0.75%2+1. 2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 9+0
AAEIE 1 0cm LA T Vs 0.675 m2
4RIV T BIGHKISHY JEHE] TH1=JE FeMg+Z=0. 75%0. 9%0. 94
A B 0.635 m3
5 EIHEEI] BHO0.20m3 PEH TH2=4E R+ g*%=0. 75%0. 9*1. 4
)= 0.945 m3
6 R T O BRSO - B 1) SRR +B T=5EF=0. 75
2.3m<IWHIE=2.5m NvIkug|tk Uz 0.750 m
7 E LR (B ) BHO0.20m3 R TUI=FER*E+E=0. 75%0. 9%0. 79
Iyay R )= 0.533 m3
8 BB (Fhg I ) BHO.20m3 PR T US=AE R E*1E=0. 75%0. 9%1. 4
RC-40H R + & o\ [ 6D Ve 0.945 m3
9 EHEE (W E)BH0.20m3 R TU4=FERxlF+E=0. 75%0. 9%0. 17
M-30H & + &> i [E 6 g 0.115 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k K& Wi ff=—1%0. 75%0. 006
Iyioay bR g -0.005 m3
11 EEEEIEMIR As - FEM L5 (B IS ) =eie i Fx )= < =0. 675%0. 05
)= 0.034 m3
12 PEREALEEIERE BH0.20m3 DTr4t BEMA TE R (FRANER) =k A= X =0. 675%0. 05
AsHi - CoBfl (M%) 3.0km A B DID M J= 0.034 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 45 (S +ll ) — #5485 =0. 63
18> 10.0kmLLF DIDE g 1.580 m3 5+0.945+0+00
14 HET (HE-KF)3ml)E A8 IH=FE FHlg + AR N =0, 75%0. 9+0
HEBRIEAs 7 T74L P 0.675 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

14

EELKE AR L
¢ 200, ¢ 100, ¢ 75
X 00202 [1-1) E.P&E# DP=0. 85
NO 4/ 3k ~HE B g HAL EHEKX
1 BEERRUIET TAT77 0V MEEEERR SHAED) B =545 AT R R H S« AR BN =0, 75%2+1. 4
15ecmPL T )= 2.900 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfEEE=(0.75%2+1. 4)*0. 023%0. 05
3 AEMRBUELREGA BH0.20m3 AEERE A T =1 BB + I A NS =0. 75%1+0
BHAEE10emPA T & 0.750 m2
4RIV T BIGHKISHY JEHE TH1=JE F*tE*%=0. 75%1*0. 49
A B 0.368 m3
5 EIHEEI] BHO0.20m3 PEH TH2=4E -+ E*E=0. 75%1%0. 73
)= 0.548 m3
6 B (Fh I ) BH0.20m3 R T UL =3 R+ EiZE=0. 75%1%0. 72
Tyiay bR g 0.540 m3
7 ERIERE (B ) BHO.20m3 H B T US=4E 5 *E*7ZE=0. 75%1%0. 35
RC-40#L & + & 7 5 [E g 0.263 m3
8 B (FhR I ) BHO.20m3 MR T U4=3E R+ EiZE=0. 75%1%0. 17
M-303 & + & > 7 S [E o = 0.128 m3
9 EEIERE (WHIERE)BH0.20m3 PR RRZERR CHTRR &) =4 Fox & Wi f=—1%0. 75%0. 011
Iyay R ER g -0.008 m3
10 FEFRFEIEME As BER LS5 (BRAEIER) =R AR X =0. 75%0. 05
)= 0.038 m3
11 PEPRALFEERE BH0.20m3 DTr4t BERA T (BE 1S =i R /R X =0. 75%0. 05
AsHlL - Codifl (E5%) 3.0kmA T DID 4 & 0.038 m3
12 &4 +3#EM; BH0.20m3 DTr4t 5 T EMR=H1 45 +H2 55 Hik T8 4y (B -+ — Tt 4=0. 36
17> 10.0kmPL T DIDME g 0.916 m3 8+0.548+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS 1B =1L S E+ I AR N H=0. 75%1+0
HABRIEAs TTA4A5 I 0.750 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
$200. ¢ 100, ¢75

XM 00203 [1-2] E. P& 3#A&  DP=1.40

15 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SRAED) B =545 AT B R H S« AR BN =0, 75%2+0. 9
15emPL T )= 2.400 m
2 BRI IRAL SRR T 7K AL B = (BEE AE 4 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfEEE=(0.75%2+0. 9)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 9+0
AAEIE 1 0cm LA T Vs 0.675 m2
4 FRIEL TP HIGHKHY Y TH1=E R+ ig*iae=0. 75%0. 9%0. 7
A B 0.473 m3
5 EIHEEI] BHO0.20m3 PEH TH2=4E = *gE*%=0. 75%0. 9*1. 04
)= 0.702 m3
6 R T O BRI SR - B 1) SRR +B T=5EF=0. 75
LAm<<¥RHNE=1.8m ~Nv7ikvg|ik Uz 0.750 m
7 E LR (B ) BHO0.20m3 R TUI=FER*E+E=0. 75%0. 9%0. 79
Iioay R LR )= 0.533 m3
8 BB (Fhg I ) BHO.20m3 P T US=E R #IE*1E=0. 75%0. 9%0. 8
RC-40H R + & o\ [ 6D Ve 0.540 m3
9 EHEE (W E)BH0.20m3 R TU4=FERxlF+E=0. 75%0. 9%0. 17
M-30H & + &> i [E 6 g 0.115 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k K& Wi ff=—1%0. 75%0. 006
Iyioay bR g -0.005 m3
11 EEEEIEMIR As - FEM L5 (B IS ) =eie i Fx )= < =0. 675%0. 05
)= 0.034 m3
12 PEREALEEIERE BH0.20m3 DTr4t BEMA TE R (FRANER) =k A= X =0. 675%0. 05
AsHi - CoBfl (M%) 3.0km A B DID M J= 0.034 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 47
+TH 10.0kmPA T DID#E g 1.175 m3 3+0.702+0+00
14 HET (HE-KF)3ml)E A8 IH=FE FHlg + AR N =0, 75%0. 9+0
HEBRIEAs 7 T74L P 0.675 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

16

KRR E AR L
¢ 200, ¢ 100, ¢ 75
X[ 00204 [1-3) B.P&E# DP=0.85
NO 4/ 3k ~HE B g HAL EHEKX
1 BEERRUIET TAT77 0V MEEEERR SRAEY) W =545 AT B H A« AR BN BRi=1%2+1. 8
15ecmPL T )= 3.800 m
2 BRI IRAL SRR T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.004 m3 EHEEE=(1%2+1. 8)*0. 023*0. 05
3 AEMRBUELREGA BH0.20m3 AEERE A T = BB+ IR N =1%1. 2+0
BHAEE10emPA T & 1.200 m2
4 RIEY T BGHIKNHY PR THI=4E R+ lg*E=1%1. 2%0. 53
A B 0.636 m3
5 EIHEEI] BHO0.20m3 PR TH2=4E Fex@*iE=1%1. 2%0. 79
g 0.948 m3
6 IR (BEARHE ) BHO.20m3 B T UL =4E - *E1E=1%1. 2%0. 82
Tyiay bR = 0.984 m3
7 ERIERE (B ) BHO.20m3 P B TUS=ZE FexlE#8=1%1. 2%0. 35
RC-40#L & + & 7 5 [E g 0.420 m3
8 E MR (MR ) BH0.20m3 B T U4A=3E - * g E=1%1. 2%0. 17
M-30HE B + &> SHf [E o = 0.204 m3
9 EEIERE (WHIERE)BH0.20m3 PR BRAZERR (GHaR ) =4 o Wi Al =— 1 1%0. 038
Iyay R ER g -0.038 m3
10 FEXPEFEWALEL As BERA LSy (BEHIFR) =Rl A FEe S X =1. 2%0. 05
g 0.060 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R R /R X =1. 2%0. 05
AsHlL - Codifl (E5%) 3.0kmA T DID 4 & 0.060 m3
12 &4 +3#EM; BH0.20m3 DTr4t 5 T EMR=H1 45 +H2 55 Hik T8 4y (B -+ ) — Tt 4=0. 63
+# 10.0kmPL T DID#E = 1.584 m3 6+0.948+0+00
13 AfdE T (HEE-¥E)3cnl /@ A8 IR =4E g+ FE I R =1%1. 2+0
HABRIEAs TTA4A5 I 1.200 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

17

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00205 [1-3] E.PE&HEAL DP=1. 10
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SRAEY) W =545 AT B H A« AR BN BRi=1%2+1. 8
15emPL T )= 3.800 m
2 BRI IRAL SRR T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.004 m3 EHEEE=(1%2+1. 8)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T = BB+ IR N =1%1. 2+0
AAEIE 1 0cm LA T Vs 1.200 m2
4RIV T BIGHKISHY JEH] TH1=E F*tg+E=1%1. 2*%0. 63
A B 0.756 m3
5 EIHEEI] BHO0.20m3 PR TH2=4E Fex@*iZE=1%1. 2%0. 94
)= 1.128 m3
6 R T O BRI SR - B 1) SRR TR T=ERE=
LAm<<¥RHNE=1.8m ~Nv7ikvg|ik Uz 1.000 m
7 ERIERE (B ) BHO.20m3 PR T U= sl Z8=1%1. 2%0. 82
Iioay R LR )= 0.984 m3
8 BB (Fhg I ) BHO.20m3 PR TUS=AE Fexg#iE=1%1. 2%0. 6
RC-40H R + & o\ [ 6D Ve 0.720 m3
9 EEME (B R) BH0.20m3 P B T U4=%E sl i8=1%1. 2%0. 17
M-30HREE + & o/ [ o g 0.204 m3
10 B R (kg ) BHO0.20m3 B PERR GOk &) =4k F+ 48 Wi i fE=—1%1%0. 038
Iyioay bR g -0.038 m3
11 EEEEIEMIR As - BERA ALy (Bl IS ) = Ak i Ff+ )5 S =1. 2%0. 05
)= 0.060 m3
12 PEREALEEIERE BH0.20m3 DTr4t BER My (R D) =i A+ < =1. 2*0. 05
AsHi - CoBfl (M%) 3.0km A B DID M J= 0.060 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 75
18> 10.0kmLLF DIDE g 1.884 m3 6+1.128+0+00
14 HET (HE-KF)3ml)E IS B =E FoHlg + AR N R =1%1. 2+0
HEBRIEAs 7 T74L P 1.200 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

18 H

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00301 /K#kte
NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=1.5
g 1.500 m
2 FEET—b IR T=1=1.5
150mm X 50m,// % 25 Hr0IAF» J= 1.500 m
3 GHEERREINT T AT 7 VM SRAEY) B =545 AT B PR H S« AR BN =1, 5%2+0
15emPL T )= 3.000 m
4 BEFRI5IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.003 m3 &A= (1. 5%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 5%0. 6+0
AAEIE 1 0cm LA T Vs 0.900 m2
6 ‘FIHEE] BHO0.20m3 JEHI THI=ZE ExE*E=1. 5%0. 6%0. 93
)= 0.837 m3
7 ERIERE (B ) BHO.20m3 HBE T UL =4E EesE*ZE=1. 5%0. 6%0. 43
Iioay R LR )= 0.387 m3
8 BB (Fhg I ) BHO.20m3 R TUS=HE exfigix{4e=1. 5%0. 6%0. 35
RC-40H R + & o\ [ 6D Ve 0.315 m3
9 EEME (B R) BH0.20m3 H B T UA=4E EesigZE=1. 5%0. 6%0. 17
M-30H & + &> i [E 6 g 0.153 m3
10 B R (kg ) BHO0.20m3 PR PERR GOk &) =1 K+ Wi F=—1%1. 5%0. 001
Iyioay bR g -0.002 m3
11 ERRBEFEWALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =0. 9%0. 05
)= 0.045 m3
12 PEREALEEIERE BH0.20m3 DTr4t BER E M (PR HED) =l A+ < =0. 9%0. 05
AsHi - CoBfl (M%) 3.0km A B DID M J= 0.045 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (S +ll ) — #5485 =0. 83
18> 10.0kmLLF DIDE g 0.837 m3 7+0+0+00
14 HET (HE-KF)3ml)E IAE IH=E F+ g+ E A I =1, 5%0. 6+0
HEBRIEAs 7 T74L P 0.900 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

EELKE AR L
¢ 200, ¢ 100, ¢ 75
XM 00302 JRIF:
NO b4,/ 3i#s -~k B g HAL EHEKX
1 SEAER (AT HEfF T FiR T=1L=2.9
6 50 )= 2.900 m
2 Rk —MAR L IR IL=1=2.9
)= 2.900 m
3 AT —b FHAR T=1=2.9
150mm X 50m & 262410 iA Fx b= 2.900 m
4 EHIERRUINT T AT 7 VMRS SRS T T =El 2 4 R PR AR B N B =2, 9%2+40
15emPL T B 5.800 m
5 BEERIGIRAL AR TR K AL Bl = (Bl EE AT B4 S+ A+ IR *0. 023%
b 0.007 m3 EHEEE=(2. 9%2+0)*0. 023%0. 05
6 ‘FIHEE] BHO0.20m3 JEHI THI=ZE ExE*E=2. 9%0. 6%0. 96
)= 1.670 m3
7 ERIERE (B ) BHO.20m3 H B T U1 =4E Ee 5 ZE=2. 9%0. 6%0. 46
Iioay R LR )= 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HIE i x{4e=2. 9%0. 6%0. 35
RC-40H R + & o\ [ 6D Ve 0.609 m3
9 EEME (B R) BH0.20m3 H B T UA=4E Ee g 1ZE=2. 9%0. 6%0. 17
M-30HREE + & o/ [ o )= 0.296 m3
10 B R (kg ) BHO0.20m3 HRBEPERR GOk ) =4 Ko+ Wi i Ff=—1%2. 9%0. 003
Iyioay bR g -0.009 m3
11 EEEEIEMIR As - FER LG5 (B HISES) =R i Fe /5 S =1. 74%0. 05
)= 0.087 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERTE My (PR HIER) =i A+ R X =1. 74%0. 05
AsHi - CoBfl (M%) 3.0km A B DID M J= 0.087 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 57 +H2 53 ik TR 4y (IS +lm) - B8 =1. 67
18> 10.0kmLLF DIDE g 1.670 m3 +0+0+00
14 HET (HE-KF)3ml)E IAE IH=4E F+ g+ E AR N =2, 9%0. 6+0
HEBRIEAs 7 T74L P 1.740 m2




= Vvl
T T RE 20 H
(7-103) ERKEMRBE LF(R7)
KB L
PP ¢ 20
PXIHl 00001 #A/KE GEBSHEH] @ 74457)
NO b4,/ 3i#s -~k B g HAL EHEKX
1 e — M T ERT=1=22. 9
J= 22.900 m
2 Mk —b R LA=22.9
150mm X 50m % 2fZ470 A - a 22.900 m
3 AHEERREINT T AT 7 MM AR SHAEY) B T =545 9T AR B« AR In =22, 9%2+0
15ecmPA T g 45.800 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
5 0.053 m3 &fzEE=(22. 9%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T = BB + TIN5 =22. 9%0. 6+0
BHEEE10emA T 2 13.740 m2
6 ‘FIHEE] BHO0.20m3 Y TH1=4E B+ iE*E=22. 9%0. 6%0. 93
)= 12.778 m3
7 E LR (B ) BHO0.20m3 PR TUI=ERxF =22, 9%0. 6%0. 43
Iioay R LR )= 5.908 m3
8 BB (Fhg I ) BHO.20m3 M5 T US=%EE*E*14E=22. 9%0. 6%0. 35
RC-40H R + & o\ [ 6D Ve 4,809 m3
9 EHEE (W E)BH0.20m3 R TU4=FERxiF+E=22. 9%0. 6%0. 17
M-30HREE + & o/ [ o )= 2.336 m3
10 B R (kg ) BHO0.20m3 B PERR GOk &) =1 5+ W F=—1%22. 9%0. 001
Iyioay bR g -0.023 m3
11 FEFRPEEMLIE As BER L5y (R HIF) =i FE /B X =13. 74%0. 05
)= 0.687 m3
12 PEPRALEER: BH0.20m3 DTrdt BEMA TE R (R ANEE) =T A+ X =13. 74%0. 05
AsHi - CoBfl (M%) 3.0km A B DID M J= 0.687 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 A E =1 43 +H2 23 Hik TR 4y (S Hllm) B & =12. 7
18> 10.0kmLLF DIDE g 12.778 m3 78+0+0+00
14 HET (HE-KF)3ml)E A8 IH=E FHlE + AR TN =22, 9%0. 6+0
HEBRIEAs 7 T74L )= 13.740 m2




T TEHEEARE

(7-103) EEKEME LFH (R 7)

21 H

AR E R L
PP ¢ 20
IXIH 00002 #&/KE (BNEH] 1 20057)
NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T B R T=1=3
g 3.000 m
2 fEFk—bh EH/RT=1=3
150mm X 50m,// % 25 Hr0IAF» J= 3.000 m
3 REEY T BSHIRHY PR THI=4E F*ME*4=3%0. 5%0. 5
ANTJ 5 0.750 m3
4 HEERL BGHKHY T PR T UL =4E e #EizE=3%0. 5%0. 5
i [ DML 2 0.750 m3
5 ERL BGHKSHY b PR RAZERR CHTRR &) =4I Fox 8 W i F=—1%3%0. 001
FRE O ML b -0.003 m3
6 F&A3ERE BHO0.20m3 DTrdt B B Me=H1 57 +H2 23 Hik T8 4 (A +Alm) -#i B4 =0. 75
+#5 10.0kmLL F DID%E 2 0.750 m3 +0+0+00




+ T A E 22 H
(7-103) ERKEMRBE LF(R7)
KB L
PP ¢ 20
X[ 00003 #A/KE (ENHEHI : 21E5y)
NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L N To1=3
B 3.000 m
2 BEEERT—h A R T=1=3
150mm X 50m % 2fZ470 A - a 3.000 m
3 AHEERREINT T AT 7 MM AR SHAED) B =545 AT B PR H S« AR B N Bi=3%2+1
15ecmlL T )= 7.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AL+ N BRD) *0. 023%
& 0.008 m3 &hTE/E=(3%2+1)*0. 023%0. 05
5 AHEMRBUELRGA BH0.20m3 AL T = BB + T A N =3%0. 5+0
BHEEE10emA T & 1.500 m2
6 KIEY T BGEHIKHY PR TH1=4E e * g *E=3%0. 5%0. 45
A B 0.675 m3
7 HWRL BGH™HY L R B T U1=AE @ #55=3%0. 5%0. 5
FRE O ML b 0.750 m3
8 HRL FUGHIKDY b R BEPERR GOk &) =4 5+ BT F=—1%3%0. 001
i [ DML Ve -0.003 m3
9 ERRBEIEMILIE As BEAA AL S5 (HR I ER) =Rl Ak Fi+ . X =1. 5%0. 05
)= 0.075 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERE M (R HED) =i A+ < =1. 5%0. 05
AsHi - CoBfl (ME77%) 3.0km LA B DID M J= 0.075 m3
11 FAE+5EME BHO0.20m3 DTr4t B 1 TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 67
+# 10.0kmPL T DIDE g 0.675 m3 5+0+0+00
12 EEET (B4E)5eml)E A8 H=FE FHIlg + I A TN B =3%0. 5+0
HEBRIEAs T745 P 1.500 m2




+ T A E 23 H
(7-103) ERKEMRBE LF(R7)
KB L
PP ¢ 20
X[ 00004 #AKE (ENHEH  1HE5y)
NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=1.5
B 1.500 m
2 FEET—b IR T=1=1.5
150mm X 50m % 2fZ470 A - a 1.500 m
3 GHEERREINT 2 )—Mal2ERR LGN T =1 B+ ARE+INB=1. 5%2+0. 5
15ecmlL T )= 3.500 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
5 0.008 m3 &EfiZEE=(1.5%2+0.5)*0. 023%0. 1
5 EREERRMEAR 2 0V-MgERR B AEERE A T =1 BB+ I A NS =1. 5%0. 5+0
B A3 15emPA | g 0.750 m2
6 KIEY T BGEHIKHY PR THI=ZE E+lE*E=1. 5%0. 5%0. 4
A B 0.300 m3
7 HWRL BGH™HY L B TUI=AEE+lEs%E=1. 5%0. 5%0. 4
FRE O ML b 0.300 m3
8 HRL FUGHIKDY b PR B PERR GOk ) =1 K+ Wi F=—1%1. 5%0. 001
i [ DML Ve -0.002 m3
9 EEFBEIEMLEE $kHCo BEAA ALy (PR EIER) =AleA i F 5 & =0. 75%0. 1
g 0.075 m3
10 PEPEALEEIERE BH0.20m3 DTr4t BERA E My (PR =l A+ < =0. 75%0. 1
Co3ifl (8515 20.0kmLL T DID#E = 0.075 m3
11 FAE+5EME BHO0.20m3 DTr4t 75 L E =1 53 H2 25 Hik T 88 4y (RS HAll ) — B =0. 3+
+#> 10.0kmPL F DID%E g 0.300 m3 0+0+00




T TG E

ALK E AR L
¢ 200, ¢ 100, ¢ 75 1 H
NO A VLS =¥V EE (BB XEF /TR #&E) a1
1| SAEmsR (NJ1) T
00302
¢ 50
m 2.900 2.900
2 | BEBRAEANR L -« MIABYEAT ( 00006
FAs)
S T5LLT 2. 500
m 2. 500
3 | mEH (L =E R 00001 00007
675 1. 000 1.500
m 2. 500
4 | EREREARER L - RIABIEST ( 00002 00003 00004
FA)
$ 100 23. 000 12. 000 63. 000
m 98. 000
5 | BEEREAER L« BIALYEAS ( 00008 00009 00010
Fehk)
¢ 200 63. 000 7. 500 2. 500
m 73. 000
6| RVzFL LR —TWE 00006
T
S T5LLT 2. 500
m 2. 500
1| g8k EWHRT—7 L 00006
675 2. 500
m 2. 500
8 | B (L =% EHR 00001 00007
T—7T
675 1. 000 1. 500
m 2. 500




A

ElE

Y Vor, =/u
EHELKEARER L
¢ 200, ¢ 100, ¢ 75 2 B
NO A VLS =¥V EE (BB XEF /TR #&E) &5
9 RyzFrLo ) —THIE 00002 00003 00004
T
$ 100 23. 000 12. 000 63. 000
m 98. 000
10 | g8 EWHRT—7 L 00002 00003 00004
¢ 100 23. 000 12. 000 63. 000
m 98. 000
M| ByvxzFrozy) —7ymE 00008 00009 00010
T
¢ 200 63. 000 7.500 2. 500
m 73. 000
12 | 858K EHRT7T—7 L 00008 00009 00010
$ 200 63. 000 7.500 2. 500
m 73. 000
13 | #E§%ks— Mgk L 00001 00002 00003 00004 00006 00007 00008 00009 00010
00301 00302
1. 000 23. 000 12. 000 63. 000 2.500 1. 500 63. 000 7.500 2. 500
m 1. 500 2.900 180. 400
14 | @K 00002 00003 00004 00006 00008 00009
20. 000 12. 000 63. 000 2. 500 63. 000 7.500
m 168. 000
15 | &HEERREIMT  7A7 7V MEZERR 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
00102 00103 00201 00202 00203 00204 00205 00301 00302
15emEA ™ 2.000 46. 000 24. 000 63. 000 5. 000 3.000 63. 000 15. 000 5. 000 6. 000
m 6. 000 6. 000 2.700 2. 900 2. 400 3. 800 3. 800 3. 000 5. 800 268. 400
16 | &fi%EhREUE LFEIA  BHO. 20m 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
3 00102 00103 00201 00202 00203 00204 00205 00301
EHTEE 10em L T 0. 900 13. 800 7.200 31. 500 1. 500 1. 350 31. 500 4. 500 1. 500 2. 000
m2 2. 000 2. 250 0.675 0. 750 0. 675 1. 200 1. 200 0. 900 105. 400




T TG E

Y Vor, =/u
EHELKEARER L
¢ 200, ¢ 100, ¢ 75 3 B’
NO A VLS =¥V EE (BB XEF /TR #&E) &5
17 | & #EHZHI  BHO. 20m3 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
00102 00103 00201 00202 00203 00204 00205 00301 00302
1.926 16.176 10. 284 36. 330 1.875 2.079 36. 130 5. 460 2.235 2.340
m3 1. 380 1.823 0.945 0. 548 0. 702 0. 948 1.128 0. 837 1.670 124. 816
18 | FEH W HEFKD 00101
U 00102 00103 00201 00202 00203 00204 00205
N7 1. 560
m3 0. 920 1.215 0. 635 0. 368 0. 473 0. 636 0. 756 6. 563
19 | FEIMERE (BHIEE) BHO. 2 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
Om3 00102 00103 00201 00202 00203 00204 00205 00301 00302
7y oa s AR 0.525 9. 023 4.752 19. 887 1. 107 0.788 17.986 2. 925 1.015 0. 800
m3 0. 800 0. 900 0. 528 0. 532 0. 528 0. 946 0. 946 0. 385 0. 791 65. 164
20 | EWRHEE (M) BHO. 2 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
Om3 00102 00103 00201 00202 00203 00204 00205 00301 00302
RC-40HEFR + & >/ <5iti [ 65 1. 260 4. 830 4. 320 11.025 0. 525 1. 080 11.025 1.575 0. 900 2. 800
m3 1.200 1. 800 0.945 0. 263 0. 540 0. 420 0. 720 0.315 0. 609 46. 152
21 | FEEHERE (B EE) BHO. 2 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
Om3 00102 00103 00201 00202 00203 00204 00205 00301 00302
M-30HH R 4 & o S5 [ D 0.153 2.346 1.224 5. 355 0. 255 0. 230 5. 355 0. 765 0. 255 0. 340
m3 0. 340 0. 383 0.115 0.128 0.115 0. 204 0. 204 0.153 0. 296 18.216
22 | FEA M BHO. 20m3  DTr 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
4t 00102 00103 00201 00202 00203 00204 00205 00301 00302
+#  10. 0OkmEL N DIDZE 1.926 16. 176 10. 284 36. 330 1.875 2.079 36. 130 5. 460 2.235 3. 900
m3 2. 300 3.038 1. 580 0.916 1.175 1.584 1.884 0. 837 1.670 131. 379
23 | PEBEALEREHE  BHO. 20m3 D 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
Tr4t 00102 00103 00201 00202 00203 00204 00205 00301 00302
As3fl - CoBf (48f5) 3. OkmLL 0. 045 0. 690 0. 360 1. 575 0.075 0. 068 1. 575 0.225 0.075 0. 100
~ DID# m3 0.100 0.113 0. 034 0. 038 0. 034 0. 060 0. 060 0. 045 0. 087 5. 359




T TG E

Y Vor, =/u
EELKE AR L
¢ 200, ¢ 100, ¢ 75 4 H
NO A VLS =¥V EE (BB XEF /TR #&E) &5
24 | SYET (HE - ®E) 3cml 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
& 00102 00103 00201 00202 00203 00204 00205 00301 00302
FEBRIEEAs 754 A 0. 900 13. 800 7. 200 31. 500 1. 500 1.350 31. 500 4. 500 1. 500 2. 000
m2 2. 000 2. 250 0. 675 0. 750 0. 675 1.200 1. 200 0. 900 1. 740 107. 140
25 | BRI (BREIMFI - Hhk 00007
L)  RKE 2.0m 00203 00205
1. 5m<HEHNE=1.8m N yJk 1. 500
U1k m 0. 750 1. 000 3. 250
26 | LR (BRI - Hhk 00001
i)  RIKE 2. 5m
2. Om<HEHIE=2.3m N vk 1. 000
U1 m 1. 000
27 | R (EREIMFM - Hhk
L)  RHE 3.0m 00201
2. 3m<PEHIE=2.5m N 9k
VG1E7 m 0. 750 0. 750
28 | ARk — b 00001 00002 00003 00004 00006 00007 00008 00009 00010
00301 00302
150mm X 50m, % 2{&HT 0 iA 1. 000 23. 000 12. 000 63. 000 2. 500 1. 500 63. 000 7. 500 2. 500
i m 1. 500 2. 900 180. 400
29 | HEERPEIEWULEE  As 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
00102 00103 00201 00202 00203 00204 00205 00301 00302
0. 045 0. 690 0. 360 1.575 0.075 0. 068 1.575 0. 225 0.075 0. 100
m3 0. 100 0.113 0.034 0.038 0.034 0. 060 0. 060 0. 045 0. 087 5. 359
30 | EERRIEHIRAL 1R 00001 00002 00003 00004 00006 00007 00008 00009 00010 00101
00102 00103 00201 00202 00203 00204 00205 00301 00302
0. 002 0. 053 0. 028 0.072 0. 006 0. 003 0.072 0.017 0. 006 0. 007
m3 0. 007 0. 007 0. 003 0. 003 0. 003 0. 004 0. 004 0. 003 0. 007 0. 307




T TG E

/N Par =
KB L
PP ¢ 20 5 HBH
NO A VLS =¥V EE (BB XEF /TR #&E) N
1| ks — MR T 00001 00002 00003 00004
22.900 3. 000 3. 000 1. 500
m 30. 400
2 | GHEERREINT ATV MERAERR 00001 00003
15ecmPA T 45. 800 7.000
m 52. 800
3| EHEERREIWT 2V ) - MEHEERR 00004
15ecmEL T 3. 500
m 3. 500
4 | SfEEIREE LFEA  BHO. 20m 00001 00003
3
AL 10em L T 13. 740 1. 500
m2 15. 240
5 | EfEERREA: 20— MEERR 00004
P e L
Bt B 15em LT 0. 750
m2 0. 750
6 | = EEHEHI  BHO. 20m3 00001
12. 778
m3 12. 778
T FREY +0 HEHKD 00002 00003 00004
n
ANTJ 0.750 0.675 0. 300
m3 1.725
8 | EHEMEET (B¥MIEE) BHO. 2 00001
Om3
7y ya AR 5. 885
m3 5. 885




R E AT L
PP ¢ 20

T TG E

NO

A5 Bk

HAL

R (BB XHE S/ T B HER)

IR (B MEES) BHO. 2
Om3

RC-40HR 52+ Z o 2 i [ 6D

m3

00001

4. 809

. 809

10

EHHE (W) BHO. 2
Om3

M-30 & + & S [E D

m3

00001

2.336

. 336

11

HEL BN Y
2

i ] o0 JHE L

m3

00002

00003

00004

0. 747

0. 747

0. 298

. 792

12

FEA EHE BHO. 20m3  DTr
1t

+45 10.0kmPA T DIDE

m3

00001

00002

00003

00004

12.778

0. 750

0.675

0. 300

14.

503

13

PEFEALEEEWE  BHO. 20m3 D
Tr4t

As3fl - CoBfl (%) 3. OkmLA
T DIDXE

m3

00001

00003

0.687

0.075

. 762

14

PEFEALERIENE  BHO. 20m3 D
Tr4t

Colf (k) 20.0kmLLF D
ID4HE

m3

00004

0.075

. 075

15

ﬁg%ﬁji (HH - B%JH) 3eml

FHAEBREA T4 A

m2

00001

13.740

13.

740

16

ST (BME) beml)E

BAEBREA 774 A

m2

00003

1. 500

. 500




T TG E

Wor =
K EARY L
PP ¢ 20 7 H
NO A VLS =¥V EE (BB XEF /TR #&E) &5
17 | FEs— K 00001 00002 00003 00004
150mm X 50m, & 2fFHT 0 A 22.900 3. 000 3. 000 1. 500
Fr m 30. 400
18 | EEEXBEFEMNEL  As 00001 00003
0. 687 0.075
m3 0. 762
19 | AEREEIEMLEE  $R:fCo 00004
0.075
m3 0.075
20 | EERIHRA S E 00001 00003
0. 053 0. 008
m3 0. 061
21 | BRI 00004
0. 008
m3 0. 008




